

On Rational Solutions of the Diophantine Equations

$$X^2 - (t^2 - t)Y^2 - (4t - 2)X + (4t^2 - 4t)Y = 8$$

Amara Chandoul

Institut Supérieure d'Informatique et de Multimedia de Sfax,
Route de Tunis km 10, B.P. 242, Sfax, Tunisia
E-mail : amarachandoul@yahoo.fr

Oussama Dammak

Faculté des Sciences de Sfax,
BP 802, Sfax 3018, Tunisie
E-mail : oussama.dammak@yahoo.fr

Abstract

Let $t \geq 2$ be a positive integer. This paper deals with some formulas for the integer solutions of the Diophantine equation (E) : $X^2 - (t^2 - t)Y^2 - (4t - 2)X + (4t^2 - 4t)Y = 8$.

Keywords: Pell's equation, solutions of Diophantine equations.

1 Introduction

Diophantus in his *Aritmetika* deals with the search for rational (not necessarily integral) solutions of special types of Diophantine equations. The general theory of solving of Diophantine equations of the first degree was developed by C.G. Bachet in the 17th century; for more details on this subject see Linear equation. P. Fermat, J. Wallis, L. Euler, J.L. Lagrange, and C.F. Gauss in the early 19th century mainly studied Diophantine equations of the form

$$ax^2 + bxy + cy^2 + dx + ey + f = 0$$

where a, b, c, d and f are integers, i.e. general inhomogeneous equations of the second degree with two unknowns. Lagrange used continued fractions in his study of general inhomogeneous Diophantine equations of the second degree with two unknowns. Gauss developed the general theory of quadratic forms, which is the basis of solving certain types of Diophantine equations.

In this paper, we will proceed to study rational solutions of the Diophantine equation

$$(E) : X^2 - (t^2 - t)Y^2 - (4t - 2)X + (4t^2 - 4t)Y = 8$$

where, $t \geq 1$ be an integer. Here and in what follows we shall mean by a solution a rational solution.

2 Main results

In this section, we consider the solutions of the Diophantine equation

$$(E) : X^2 - (t^2 - t)Y^2 - (4t - 2)X + (4t^2 - 4t)Y = 8$$

where, $t \geq 1$ and $l \geq 1$ be two integers.

Theorem 2.1 $(X_1, Y_1) = (8t - 4, 8)$ is the fundamental solution of the Diophantine equation (E) .

Proof. It is easily seen that $(X_1, Y_1) = (8t - 4, 8)$ is a solution of the Diophantine equation (E) , since $(8t - 4)^2 - (t^2 - t)(8)^2 - (4t - 2)(8t - 4) + (4t^2 - 4t)8 = 8$.

Theorem 2.2 *Let*

$$\begin{pmatrix} u_n \\ v_n \end{pmatrix} = \begin{pmatrix} 2t - 1 & 2(t^2 - t) \\ 2 & 2t - 1 \end{pmatrix}^n \begin{pmatrix} 3 \\ 0 \end{pmatrix} \quad (1)$$

for $n \geq 1$. Then $(X_n, Y_n) = \left(\frac{u_n}{3^{n-1}} + 2t - 1, \frac{v_n}{3^{n-1}} + 2 \right)$ is a solution of (E) .

To prove this theorem, we need the following results.

Theorem 2.3 *Let (x_1, y_1) be the fundamental solution of the Pell equation $x^2 - Dy^2 = 9$, and let*

$$\begin{pmatrix} u_n \\ v_n \end{pmatrix} = \begin{pmatrix} x_1 & Dy_1 \\ y_1 & x_1 \end{pmatrix}^n \begin{pmatrix} 1 \\ 0 \end{pmatrix} \quad (2)$$

for $n \geq 1$. Then the integer solutions of the Pell equation $x^2 - Dy^2 = 9$ are (x_n, y_n) , where

$$(x_n, y_n) = \left(\frac{u_n}{3^{n-1}}, \frac{v_n}{3^{n-1}} \right) \quad (3)$$

Proof. We prove the theorem using the method of mathematical induction. For $n = 1$, we have from (2), $(u_1, v_1) = (x_1, y_1)$ which is the fundamental solution of $x^2 - Dy^2 = l^2$. Now, we assume that the Pell equation $x^2 - Dy^2 = 9$ is satisfied for (x_{n-1}, y_{n-1}) , i.e.

$$x_{n-1}^2 - Dy_{n-1}^2 = \frac{u_{n-1}^2 - Dv_{n-1}^2}{k^{2n-4}} = 9 \quad (4)$$

and we show that it holds for (x_n, y_n) .

Indeed, by (2), it is easy to prove that

$$\begin{cases} u_n = x_1 u_{n-1} + D y_1 v_{n-1} \\ v_n = y_1 u_{n-1} + x_1 v_{n-1} \end{cases} \quad (5)$$

Hence,

$$\begin{aligned} x_n^2 - Dy_n^2 &= \frac{u_n^2 - Dv_n^2}{3^{2n-2}} \\ &= \frac{(x_1 u_{n-1} + D y_1 v_{n-1})^2 - D(y_1 u_{n-1} + x_1 v_{n-1})^2}{3^{2n-2}} \\ &= \frac{x_1^2 u_{n-1}^2 + 2x_1 u_{n-1} D y_1 v_{n-1} + D^2 y_1^2 v_{n-1}^2}{3^{2n-2}} \\ &\quad - \frac{D(y_1^2 u_{n-1}^2 + 2y_1 u_{n-1} x_1 v_{n-1} + x_1^2 v_{n-1}^2)}{3^{2n-2}} \\ &= \frac{x_1^2 (u_{n-1}^2 - D v_{n-1}^2) - D y_1^2 (u_{n-1}^2 - D v_{n-1}^2)}{3^{2n-2}} \\ &= (x_1^2 - D y_1^2) \frac{(u_{n-1}^2 - D v_{n-1}^2)}{3^{2n-2}} \end{aligned}$$

Applying (4), it is easily seen that

$$u_{n-1}^2 - D v_{n-1}^2 = k^{2n-4} k^2 = 3^{2n-2}.$$

Hence we conclude that

$$x_n^2 - Dy_n^2 = (x_1^2 - D y_1^2) = 9.$$

Therefore (x_n, y_n) is also a solution of the Pell equation $x^2 - Dy^2 = 9$. Since n is arbitrary, we get all integer solutions of the Pell equation $x^2 - Dy^2 = 9$.

Lemma 2.4 $(x_1, y_1) = (6t-3, 6)$ is the fundamental solution of the Pell equation $x^2 - Dy^2 = 9$.

Proof. (of **Theorem 2.2**) we have

$$\begin{aligned}
& X^2 - (t^2 - t)Y^2 - (4t - 2)X + (4t^2 - 4t)Y \\
&= \left(\frac{u_n}{3^{n-1}} + 2t - 1 \right)^2 - (t^2 - t) \left(\frac{v_n}{3^{n-1}} + 2 \right)^2 - (4t - 2) \left(\frac{u_n}{3^{n-1}} + 2t - 1 \right) \\
&+ (4t^2 - 4t) \left(\frac{v_n}{3^{n-1}} + 2 \right) \\
&= \left(\frac{u_n}{3^{n-1}} \right)^2 - (t^2 - t) \left(\frac{v_n}{3^{n-1}} \right)^2 - 1 = 8.
\end{aligned}$$

Theorem 2.5 *The solutions (X_n, Y_n) of the Diophantine equation (E), satisfy the recurrence relations*

$$\begin{cases} X_n = \frac{(2t - 1)X_{n-1} + 2(t^2 - t)Y_{n-1} - 8t^2 + 8t - 1}{3} + 2t - 1 \\ Y_n = \frac{2X_{n-1} + (2t - 1)Y_{n-1} - 8t + 4}{3} + 2 \end{cases} \quad (6)$$

Proof. It is clear that $u_n = (2t - 1)u_{n-1} + 2(t^2 - t)v_{n-1}$. Then, we get

$$3^{n-1}(x_n - (2t - 1)) = (2t - 1)3^{n-2}(x_{n-1} - (2t - 1)) + 23^{n-2}(t^2 - t)(y_{n-1} - 2),$$

which gives

$$3(x_n - (2t - 1)) = (2t - 1)(x_{n-1} - (2t - 1)) + 2(t^2 - t)(y_{n-1} - 2),$$

hence

$$X_n = \frac{(2t - 1)X_{n-1} + 2(t^2 - t)Y_{n-1} - 8t^2 + 8t - 1}{3} + 2t - 1.$$

And, similarly, we get

$$Y_n = \frac{2X_{n-1} + (2t - 1)Y_{n-1} - 8t + 4}{3} + 2$$

2.1 Algorithm

function $[X, Y] = \text{solution}(n, t)$

$X = [(8t - 4)];$

$Y = [8];$

 for $i = 2 : n$

$$A = \frac{(2t - 1)X_{i-1} + 2(t^2 - t)Y_{i-1} - 8t^2 + 8t - 1}{3} + 2t - 1;$$

$$B = \frac{2X_{i-1} + (2t - 1)Y_{i-1} - 8t + 4}{3} + 2;$$

$X = [X, A]; Y = [Y, B];$

end

Acknowledgements

We would like to thank Sa  d Chandoul and Mass  uda Lo  rayed for helpful discussions and many remarks.

References

- [1] A. Chandoul, *The Pell equation $x^2 - Dy^2 = \pm k^2$* , Advances in pure mathematics, Vol.1, 2011, 2, 16-22.
- [2] A. Chandoul, *The Pell equation $x^2 - Dy^2 = \pm 9$* , Research Journal of pure Algebra, Vol.1, Apr. 2011, 1, 11-15.
- [3] A. Chandoul, *On Quadratic Diophantine Equation $x^2 - (t^2 - t)y^2 - (16t - 4)x + (16t^2 - 16t)y = 0$* , International Mathematical Forum, Vol.6, 2011, 36, 1777-1782.
- [4] A. Tekcan, *The Pell equation $x^2 - Dy^2 = \pm 4$* , Applied Mathematical Sciences, Vol.1, 2007, no.8, 363-369.
- [5] A. Chandoul, *Quadratic Diophantine Equation $x^2 - (t^2 - t)y^2 - (4t - 2)x + (4t^2 - 4t)y = 0$* , Bull. Malays. Math. Soc. (2), 2010, 33 (2),

273-280.

- [6] P. Kaplan, K.S Williams, *Pell's Equation $x^2 - my^2 = -1, -4$ and continued fractions*, Jour. Number Theory, 23 (1986), 169-182.
- [7] K. Matthews, *The Diophantine Equation $x^2 - Dy^2 = N$, $D > 0$* , Expositiones Math., 18 (2000), 323-331.
- [8] R.A. Mollin, A.J Poorten, H.C. Williams, *Halfway to a Solution of $x^2 - Dy^2 = -3$* , Journal de Theorie des Nombres Bordeaux, 6 (1994), 421-457.
- [9] P. Stevenhagen, *A Density Conjecture for the negative Pell Equation*, Computational Algebra and Number Theory, Math. Appl. 325 (1992), 187-200.
- [10] A. S. Shabani, *The Proof of Two Conjectures related to Pell's Equation $x^2 - Dy^2 = \pm 4$* , International Journal of Computational and Mathematical Sciences, 2;1, 2008, 24-27.
- [11] I. Niven, H. S. Zuckerman and H. L. Montgomery, *An introduction to the theory of numbers* , Printed in the republic of singapore, 5th ed. 1991.